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AREA STATEMENTS:-

Delail -1 (Rectangle)
Area = [133.5930 x27.928)

Detail -2 (Rectangle)
Area = (30,000 x5%.3%2)

Delail -3A (Triangle)
5 =(30.000 + 29.497 + 42.213)/2 =50.9550

Area ﬁfﬁﬂ.?‘ﬁﬂl‘ x 20.550 x 21.2580 x 8.7420

Detail -3B (Trangle)
5={47.70% + 47.050 + 42.213)/2 =78.5840

Areqa —:FE.EE&E ®x 304770 x 11.5360 x 363730

Detall -4A (Tdangle)
5 =(47.909 + 41.917 + 46.5628)/2 =78.2270

Area =J".-"5.22'||"J x 30.3180 x 36.3100 x 11.5970

Detail -4B (Triangle)
$=(39.512 + 41,917 + 31.698)/2 =56.5635

Area —';ISLE&H x 17.0515 x 14.6465 x 24,8655

Detail -5A (Triangle)
5 =(44.5563 + 43.187 + 31.698)/2 =5%9.7250

Area ﬁfﬁl?!ﬂi x 15.1420x 165340 x 28.0270

Detail -58 (Quadrilateral)
Area = [74.475 + 104.002)/2 x 33.541

Detail -4 (Reclangle)
Area = 127.405 x 55.470

Detail -7 (Reclongle)
Areg = 100.584 x 40,350

Delail -8 (Reclangle)
Area = 47.054 x §0.350

Detail -7 (Reclangle)
Area = §7.056 x §0.350

Detail -10 (Rectangle)
Area = §7.056 x20.117

Detail -11 [Reclangle)
Area = 47.056 x 60.250

Detail -12 (Rectangle)
Area = 134.112 x 301.750

Detail -13 (Quadrilaternal)
Area = (285.445 + 255.104)/2 x §0.250

Detail -14 (Quadrilateral)
Area =(67.474 + 37.753)/2 x 12.000

]

4008.2570 Sqmi

1781.7400 Sqmt

445.4550 Sqmi

1005.7643 Sqmi

999.4291 Sqmt

592.6727 Sgqmi

447.8282 Sgqrmi

29931653 3gmi

7194.5604 Sqmt

&070.2444 Sgmi

4044.8295 Sgmi

40458295 Sqmt

1348.9656 Sqmit

4045.8294 Sgmil

40448.2960 Sqmi

16317.1017 Sqmi

631.4820 Sgmil

Delail -15 [Triangle)
5=(33.447 + 37.752 + 17.083)/2 = 44.2515

Area f,faum x 10,5845 x4.4785 x 27.1485

Delail - 14 [Quadrilateral)
Area = (82.144 + B80.448) x §0.350

Deilail -17 [Reciangle)
Areq = 24,000 x 120.700

Delail -18 (Reclangle)
Area = 10,612 x 14.7464

Detail -1 (Rectangle)
Area = 244.201 x 137,464

Detail -20 (Rectangle)
Area = 204.521 x 113.520

Detail =21 [Rectangle)
Area = 43,704 x 8,854

Detail -22 (Reclangle)
Area = §7.056 x 12.206

Detail -23 (Quadrilateral)
Area = (5.727 + 12.208) x 67.054

Delail -24 (Triangle)
$ =(47.368 + 30.290 + 71.158)/2 = 84,4080

Area =H|I'B¢.-il'.‘lﬂ-ﬂ x 17.0400 x 54.1180 x 13.2500

Detail -25 (Trangle)
§ =(29.812 + 47.298 + 71.158)/2 = B4.1340

Area =l‘||'E¢.'l$4-I:II x 54.3220 x 16.8350 x 12297460

Detail -26 {Triangle)
S=(14.747 + 1.675 + 14.7768)/2 =15.6110

Area =",I'!5,H 10 x 0.8520 x 13.9360 x 0.8130

Detail -27 (Tdangle)
5=({65.932 + £7.298 + 14.798)/2 = 740140

Area =/ 74,0140 x 8.0820 x 4.7140 x 59.2140

Detail -28A (Triangle)
§ ={65.932 + 67.122 + 24.08)/2 = 78.5700

Area =;,|’r_u,51m x 12.6380 x 11.44B80 x 54.4840

Detall -288 (Thangle)
$ ={65.301 +47.122 + 9.807)/2 = 71.1150

Area =l‘|f'.r"1.'l 150 x 5.8140 x 3.9920 x 61,3080

Detail -29 (THangle)
§ ={50.613 + £5.301 + 77.943)/2 = 94.9385

Area 1{?&?3&5 x 45,3255 x 31.4375 x 18.9755

287.5647 Sgmi

4904.8171 Sgmt

2896.8000 Sgmt

177.89%4 Sqmit

335688453 Sqmi

23217.2239 Sqmi

554.1803 Sgmi

818.4855 Sqmi

£01.2575 Sqmi

1015.55946 Sqmi

999.2255 Sqmt

12.3476 Sgmt

487.7432 Sqmit

784.9857 Sgmit

318.1459 Sqmi

1641.9348 Sqmi

Delail -30 (Triangla)
S={45.011 + £3.418 + 77.943)/2 =93.2940
Areqa =J'93.2Hﬂ x 48.2850 x 29.4780 x 15.3330

Detail -31 (Reciangle)
Area = §7.056 x 181.050

Detail -32 (Reclangle)
Area = 134.112 x 181.050

Delail -33 (Trangle)
5 ={24.843 + 24,323 + 3.961)/2 = 26,4535
Area =ps.¢535 x 1.8205 x 2.1405 x 22.5025

Detail -34 (Rectangle)
Area = 47.056 x 159.257

Detail -35 (Quaddilateral)
Area =(3.961 + 16.855)/2 x 67.055

Detail -34 (Quadrilateral)
Areg = (10.458 + 26.571)/2 x 83.832

Detail -37 (Tdangle)
S =(84.275 + 85.429 + 24.448)/2 = 97.0740
Area =(77.0750 x 12.8010 x 11,6470 x 72.6280

Detail -38 (Triangle)
5 =(84.275 + 85.400 + 24.442)/2 = 97.0585
Area =[77.0585 x 12.7835 x 114585 x 72.6145

Detail -39 (Quadrilateral)
Area = (25440 + 9.317)/2 x 82,832

Detail -40 (Reclangle)
Area = 134,112 x 118,875

Detail -41 (Triangle)
5134112 +9.112 + 124.898)/2 = 135.0410
Area =(135.05610 x 0.9490 x 125.9490 x 8.1430

Delail -42 (Triangle)
5 =(52.542 + 94.571 + 124.898)/2 = 138.0555
Areg =4Ir] 38,0555 x B5.4135 x 41.4845 x 11.1575

Detail -43 (Triangle)
S =(52.642 + 35,477 + 45.318)/2 = 47.3185
Areg =f¢r.ams X 1467465 x 30,6415 x 22.0005

Detall -44 (Triangle)
3 =(30.155 + 96.571 + 98.200)/2 = 112.4435
Areg ZTJ“ 12.4635 x B2.3075 x 15.8725 x 14.2535

i

1431.7544 Sqmil

12140.4888 Sgmi

242807776 Sqmi

48.1717 Sgmt

10677.1374 Sqml

697.7524 Sgmi

1552.9459 Sqmit

1025.2670 Sqmi

1024.8981 Sqmi

1456.8744 Sqmi

15942.6981 Sqmi

353.0115 Sqmi

2336.2348 Sqmt

816.1120 Sgmit

1448.5539 Sqmi

Detall -45 (Trangle)
S ={134.569 +34.477 + 98.200)/2 = 134,7230
Area =J1 34.7230 x 0.1540 x 96.0440 x 36.5230 =

Detail -44 (Thangle)
5 =(50.647 + 156.856 + 58.240)/2 = §7.8715
Area =:||"£?.BTIS x 7.2245 x 51.0155 x #.9315 =

Detail -47 (Triangle)
5=(80.647 + 134,549 +B80.741)/2 = 137.9885
Area =‘Jr'| 37.9885 x 77.3415 x 3. 4195 x 57.2275

Detail -48 (Triangle)
S =(75.935 + 27.518 + 80.741)/2 = 92.1070
Areq =/92.1070 x 14.1720 x 64,5890 x 11,3440

Detail -49 (TAangle)
S =(9.112 + 34,657 + 30.154)/2 = 34.9625
Area =[38.9625 x 271.8505 x 2.3055 X 6.8065 =

Delail -50A (Triangle)
S ={47.054 + 5987 + £7.317)/2 = 70.1800
ﬁ:ﬂuﬂ?ﬂim x 3.1240 x 84,1930 x 2.84630 =

Detail -508 (Triangle)
5 ={43.755 + 5224 + £7.317)/2 = 48,1480
Areg ?’EH.I 480 x 4.3930 x 42.9240 x 0.8310 =

Delail -50C (Triangle)
S ={83.755 + 41.4464 + 47.428)/2 = 76.4235
Area 11'?4.4215 ® 125685 x 34,9595 x 28.7955 =

Delail -500 (Tiangle)
§ =(58.526 + 38.524 + 47.628)/2 = 72.3390

Area =||'52.3-3-W x 13.5130 x 33.8150 x 24.7110

Detail -51 (Quadrilateral)
Area =(24.592 + 85.183)/2 x 30.000

Delall -52 (Triangle)
Area =(15.512 x 19.113)/2

Detail -53 (Triangle)
Area =(1.887 x 47.943)/ 2 =

Delail -54 (Trdangle)
Area =[8.187 x 1&555}.."2

i

Detail -16A (Tdangle)

$={17.815 + 22.336 + 10.325)/2 = 26234
Area ﬂh&.ﬂd X 46.418 x 3.898 x 15708

1]

272.5708 Sqmi

490.8454 Sgmi

1445.1450 Sqmi

1044.7895 Sqmi

127.0789 Sqmi

200.7320 Sqmt

125.114% Sqmit

§87.2340 Sqmi

#13.7557 Sqmi

16445250 Sqmit

148.2500 Sqmt

452242 Sqmt

74.3829 Sqmi

102.178 Sqmi

A . Area Under 40 M Road = 15

B . Area Under 12M Service Road = 14+14A

C . Area Under 24M Seclor Road (Verfical Part) = 17+18

D . Area Under 30M Nalah = 24425433+35+34+44+45+

E. Area Under 24M Seclor Road BoHtom

F . Total Site Area

G- Net Plammesd frea

45+47+45+51 +53

+dB+52+54

= 6202 - Ii-éli'?

26+27+28+28A+28B+37+38

(SUM of 1 to 54)- (33+35+18A) =

287.5457 Sqm
or0.gl|Acres

733.44005gmt
or 0.1870 Acres

J074.69746 Sqmt
or 0.759 Acres

7789.9293 Sgmt
or 2.417 Acres

4924.8100 S5gqmt
or 1.21% Acres

2509468.8271 Sqmt

or é2.00Acres

52.%33 fles.
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